[V(3rd Sm. )-History—H/CC—6/CBCS]

2021

HISTORY — HONOURS
Paper : CC-6
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Answer the following questions : 115
(a) Which economist attributed importance to long distance trade for the decline of feudalism?
(b) Name a country which took an active role in the exploration of the new world.

(¢) In which European country did Renaissance first take place?

(d) Name an Italian political thinker during the Renaissance.

(e) Who was Erasmus?

() Who were called the Catholics?

(g) Who were the Huguenots?

(h) Who was John Knox?

(i) At the initiative of which king the English Reformation took place?

(i) Under which ruler of England did the counter reformation movement take an intense form?
(k) In which ocean did commercial activities increase in early modern Europe?

(D) In which country did the Enclosure System develop in agriculture?
(m) Which contemporary theoretician gave a reasonable explanation of the Price Revolution?

(n) With the production of which commodity was the Enclosure movement in England associated?

(0) Which peace treaty put an end to the Thirty Years’ War?



